(BI&7)

X Hfm ER & #E
YR ¥4, 950, 000 BB R X H &
- J LR ENK -] ¥4, 950, 000 & AFI44 48 1A ¥ 4,055,743
£ ST54F 2HA12H

: 18

1| 4 | 25 [omma v IR 1026| 4,948,974
2| 5|6 [10EER R | IUARGBES) 3,910] 4,945,064
3165 [10WH%P W | HVYAR GRS 4,223 4,940,841
4 | 7| 6 [10.EER e [HUULROIAD 4,119] 4,936,722
51 8 4 [10.BHR ;e | HUuoREAR) 3,871} 4,932,851
6 ]9 |9 [I0CEER & | HUIA AN 3,981 4,928,870
7 {10 6 |10 RBER MG KA (10AS) 4,269| 4,924,601
8 | 11| 10 homEHR G | HROASD 2977] 4,921,624
9 112] 3 [10EBR RE [HuAR(12R %) 3,877 4,917,747
10} 1| 4 [omwm WM | HARORS) 1,839} 4,915,908
11 ] 5 | 27 [loEHER W |BERERUAS—2YMUGARNRS) 3,7801 4,912,128
121 6 | 30 [10.W R M | BEEERUA2—R v AR 3,903| 4,908,225
131 7 | 20 [1OEER B [EERERU A A2—2yMETARRS) 3,810 4,904 415
141 8 | 21 1O.HE MG BEEREERUA L S—RyMEBAHRA) 3,753| 4,900,662
151 9127 [0EBR Mg | BEEERVA2—2yME AR 3,868| 4,896,794
16 | 10| 22 Ho.MBR WG | BERERUAS—FIMEOI0RAS) 3,744} 4,893,050
17 | 11| 29 [0k %R M |ERAERC 5Ky MNERAS) 3,792] 4,889,258
18 | 12| 26 o RBER X |EERBERU2—RvHE(12WKRASD) 3,823| 4,885,435
19| 1|28 s 2 [TERBRUA/ SR IARRSA 4,232| 4,881,203
20| 4 10.65% EBEH [HUULALGRERRS) 3,836| 4,877,367
211 5 10.EER EH [BUUsReAERS) 4,327] 4,873,040
22| 6 10EHER EH [HUULR AR 4,388 4,868,652
2317 10851 BH sy REAERS) 3,331| 4,865,321
24 | 8 10.35R EH HVISROBERD) 4,258| 4,861,063
251 9 10. MR HH |HUY R GAERS) 3,460} 4,857,603

1 R



¥R

AUV R(OBWRS)

4,854,747

& 2,856
EFH [HUURO0ANRS) 3,128| 4,851,619
EH AR ARRS) 4,386 4,847,233
10.EHER EH |[HuusR2ARRS) 5,127{ 4,842,106
15 B THEAR EBH |OEHERARER (4R ~2R5) 2,200} 4,839,906
25 [HOERR EH [8FLurRUARRS) 6,723} 4,833,183
25 [10.EBR EH |FILYMR GG~ 10AERS) 40,343} 4,792,840
25 10X BH |[FTUvhrR~1AMRS) 20,169] 4,772,671
27 B EHEEAR & |BRGMIURsATAR) 7,300 4,765,371
27 |BHBAR EHH |BEHEMCOB~128) 7,300} 4,758,071
15 (B HHBEAR BE |BXHFNRAMS (1A ~2A5) 2,200} 4,755,871
23 BRERAR HH [LOHERMEEFRTAA~8R) 16,500} 4,739,371
23 B RHBRAR S (WoOHRESHMC(OA~1H) 16,500| 4,722,871
4 NOERR HFH |/ AVarAR(FTAVLATFIA—) 984| 4,721,887
19 {10.H B3k HE [FAX 92405 364| 4,721,523
4 | 11 [103EER EHH [HUUR (20228538 BKR S 4,639| 4,716,884
5 | 10 10 EBER SA [FUUrREARKRS) 8,813} 4,708,071
6 | 10 HO.MFE# BEHE [ HIUAL (R ERS) 5,156} 4,702,915
7 | 11 [10.EHR EH (IR GBERS) 8,908| 4,694,007
8 | 10 (OEER EH [HUULROIBERS) 5,684| 4,688,323
9 | 10 10EER @ |HUILREANRD 5,200 4,683,123
X 0} 4,683,123
10 |10 EBR HH [ HVURO0AEKRS) 10,212] 4,672,911
15 0.8 HE [HUuse AmRS) 6,971} 4,665,940
10 HO.RBER HH [HAVUsKR(12BHRS) 7,806{ 4,658,134
2 |10 ho.EHR BE (AU BmKS) 2,009] 4,656,125
4 0.8 EH [FILubME (202263 R ) 1,803] 4,654,322
4 10385 2 HH |BEBIER(022E3IAWERS) 2,233} 4,652,089
5 10.EBE FH [#TLuMMEABRERS) 1,803 4,650,286
5 10385 3% HH |[MERERGAERS) 2,225| 4,648,061
6 10EHR TH [FTLUrRGBERD) 1,804{ 4,646,257
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57| 6| |osmm Hm |MERERGARRD 2,288| 4,643,969
58 | 7 | 11 OBER =@ [$TLvb R CANRS) 1,804| 4,642,165
59 | 7 | 11 (10.EHR EH |[IERER(6AMRS) 2,236] 4,639,929
60 | 8 | 10 1O KER HE |FILUMR(TARRS) 1,804| 4,638,125
61| 8 | 10 [0 E¥#H EH [EHRERTAERS) 2,228| 4,635,897
62 R& 0| 4,635,897
63 xE 0 4,635,897
64 | 10 | 11 OIS EA |FTLYRROARRS) 1,804 4,634,093
65 | 10| 11 [10.ERER SH [NRERCANRS) 2,224 4,631,869
66 { 11 [ 10 NoEHER TE [3TLyMRI0A RS 1,804] 4,630,065
67 | 11| 10 0. EBR HE [HEREC0ATRS) 2,239] 4,627,826
68 | 12 | 12 [10.BBR SHB 47Uy BIERS) 1,803{ 4,626,023
69 { 12| 12 HO.RBR EEH |REEECOARRS) 2,243| 4,623,780
707 1|10 N0EER HE (4TLobR(12FWRS) 1,803| 4,621,977
71 1 |10 [1OEEBR HHE (MERER(2AMRS) 2,365} 4,619,612
72| 2 | 10 o RBER HH (#7LvrE( RS 1,803 4,617,809
73 | 2 | 10 [1o.mBs EE |[MERER(AARS) 2,225| 4,615,584
74| 4 | 26 HO.RER EH |AEEBRUIUI—FvHMEEARRS) 3,126) 4,612,458
75§ 5 | 25 [10.EEBR 0 |EERERUAF—RIME(GARKS) 3,021| 4,609,437
76| 6 | 27 ho.EER EH [ARRERUA SRy (6AMRS) 2,855] 4,606,582
77 | 11| 25 [10.EHR EHE |[BERERUC 2ot (11 BIRRS) 2,288( 4,604,294
781 4 | 28 10O EBR EH [AEmsIEBE 550] 4,603,744
791 4 | 18 0.BEE &8 774».:!5—#'?—1:—# 694( 4,603,050
80| 5 | 3 [10ER ER DUy B—pRo B AR BAS 587} 4,602,463
8t ]| 6 |27 [10EBE B8 |TroEE vk 895| 4,601,568
82 6 | 5 hoERX HHE [HUUR6B 2,180] 4,599,388
83| 7 | 19 [10O.EER EE HUUARTAS) 1,987 4,597,401
84| 8 | 15 IO EBR A FHYISREAN 1,565] 4,595,836
85] 9 | 8 [NomEBR HE [HVULREARN 1,900] 4,593,936
86 | 10 | 17 (0¥ B EE |HUISRI0AS) 3,665/ 4,590,271
87 1 11| 15 [10.BHR BA [HUR1AS) 1,530] 4,588,741

o b
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88

H-R02A%)

4,587,119

29 aH
8o | 1| 3 |1I0RER HE [FULROAS) 12,237] 4,574,882
90| 2 | 1 [10ERER HE |[H/URCAD 5,610] 4,569,272
91 | 12 | 15 [s. EEMAR #|DEBERARBEN R ~2A5) 2,200| 4,567,072
92 | 4 | 11 [8EHMAR B BRI r—F A ER~2A) 2,750} 4,564,322
93 | 4 | 25 BHHBAR #HLOWME A ~8AS) 8,000| 4,556,322
94| 9 | 26 BRHBAR #  lomMeeA~12A5) 6,400] 4,549,922
85| 4 ) 30 1OEHR # (A RABERS) 6,052| 4,543,870
96 | 5 | 31 [1O.EBR B HIYAR GRS 6,543| 4,537,327
97| 6 | 30 ho.EB# W IR EARRS) 10,377 4,526,950
98 | 7 | 31 [10EHE B AVUSRTARRS) 10,755§ 4,516,195
99 | 8 | 31 [t0.ERHK W [HvuALBAERS) 5,176] 4511,019
100| 8 | 30 loWBR #[AULROEARRS) 8,299{ 4,502,720
101 ] 10 | 31 [10.EBR & ISR O0AERS) 8,051 4,494,669
102 | 11 | 30 {106 #3%¢ # HvIRI1BERS) 10,528] 4,484,141
103 12 { 31 10K - SR VUM AGFY: T 53 12,910] 4,471,231
104] 5 | 2 |[10.EBR B |FTLurRARRS) 1,585] 4,469,646
105] 5 | 2 |10.HR B |RERER(GATRS) 1,592| 4,468,054
106] 5 | 2 [10EHER #® [ERNERCAL ARy UARRS) 3,429( 4,464,625|
107| 5 | 31 [10.WER ® |57LurRGAEMRS) 1,586 4,463,039
108 5 | 31 HO.EHR O RSRERGANRS) 1,323] 4,461,716
109] 5 | 31 [Ho.EHK K |BEESERU A S—FIMR(SREKRS) 3,437] 4,458,279
110] 6 | 30 |[t0.EBR H(#TLurRGAERS) 1,586| 4,456,693
111] 6 | 30 ho.XHER #ENRERGGAMRD) 1,596] 4,455,097
112} 6 | 30 [10.FHR W |ERRBERCA2—RvMR(6BERS) 3,420| 4,451,677
13| 8 | 1 [oEmR ®FILUrRIARRS) 1,586{ 4,450,091
14| 8 | 1 [lomER H|EERERTAMRS) 2,149| 4,447942
115 8 | 1 [lIoEBR B |EERERCA I~ IMHE AR 3,499| 4,444,443
116 8 | 31 [l0EHER B |YTLrR AR 1,586} 4,442,857
117} 8 | 31 |10 B MERIER GAMRS) 1,865{ 4,440,992
118} 8 | 31 [10.HFHER | ERRERUSLI—RuMEBAHRD) 3,570] 4,437,422
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119} 9 | 30 (0. BER B [FTUyME9ARRS) 1,586} 4,435,836
1201 9 | 30 HO.EBR A |[BEBIEROARRD 1,592| 4,434,244
12| 9 | 30 [10BHKR #(ERRERUL SR (97 MRS 3,670] 4,430,574
122 10 | 31 [10.KHERK # STLURI0A RS 1,586 4,428,988
123] 10 | 31 [lo&HR #|mERERO0ANRS) 1,324| 4,427,664
124 | 10 | 31 [10.EBHR #  |BEBERUE2—FUFRI0ARRS) 3,644] 4,424,020
125) 11 | 30 o EER #  [FTLvHE( ASRS) 1,585] 4,422,435
1261 11 | 30 10EHR | RERER (1 AKRS) 1,316 4,421,119
1271 11 | 30 0. =&t #  |RERBRUSZ—FyMEOTARRS) 4342| 4,416,777
128) 1 | 4 (HO.EER # [ FLurR(12B RS 1,585| 4,415,192
1291 1 | 4 [HOEEHR B |EERER2ANRS) 1,318] 4,413,874
130 1 | 4 [HONBR *  |AERERUSs—rUMtO2ZAKRS) 3,959] 4,409,915
131 1 | 31 [10HER o |9TLUE I ABRS) 1,585| 4,408,330
132] 1 | 31 o.EHER B {EWBIER( AERS) 1,896| 4,406,434
1331 1 | 31 [1OERBR % |EERERUS2—FRIFRARRE) 4,187| 4,402,247
134 11| 1 HOEER |78 —(EW-M530F) 7,700} 4,394,547
1350 11 | 14 o mRER |[Fuvs—1y 2,530] 4,392,017
136 11 | 23 [10.EER # pvavE&usend) 335 4,391,682
137} 12| 2 o EER #|[Tuss—qvy 2,633| 4,389,049
138] 12 | 4 o EHER # s SUarA&(OVDESY) 1,057} 4,387,992
139 4 | 11 [1OWBR #Ii [#FUvr (202283 RS 1,803} 4,386,189
1401 4 | 11 [10HBR N |[AEIELE (202243 ATKR ) 1,323} 4,384,866
141] 5 | 10 0.EBR F#N |FTLur G ARRS) 1,803 4,383,063
1421 5 | 10 0. R Il [RGB EKRD) 1,323( 4,381,740
143] 6 | 10 [1O. BN FN (FTLURR(GAMRS) 1,804{ 4,379,936
144 6 | 10 [10.EBR I (MW (GAIRS) 1,5961 4,378,340
145 7 | 11 [lomER #1 |FTLvrMEEARRS) 1,804 4,376,536
1461 7 | 11 [10.BHR I RIS (AR 1,356] 4,375,180
1471 8 | 10 1O BBR HN ST ETRERRS) 1,804| 4,373,376
148 8 | 10 [10.BBR 3| |HERIER A NRSD) 1,613| 4,371,763
149{ 9 | 12 HO.EHR #I [FTLvrtEERRS) 1,804] 4,369,959
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H L B |xiem

150 9 | 12 hoERR M [HRER BRAHERS) | 1,352 4,368,607
151 10} 11 [10O.HR FN FILIMR AR S) 1,804 4,366,803
152( 10 | 11 [10.RBR FHI |[MWBEER OANRD) 1,348| 4,365,455
1531 11 | 10 [10.BR # [#TLybE(10A MRS 1,804| 4,363,651
154 ] 11| 10 {10532 FEN [BAMESL (10 AR 1,344| 4,362,307
155 12 | 12 [0k #FIM [5TLorR U AERS) 1,803| 4,360,504
156 ) 12 | 12 [10.EER FHI [ WER (L ATERS) 1,642| 4,358,862
1571 1 | 10 [10EBHR #I [TUvbE2BRR) 1,803| 4,357,059
1581 1 | 10 [10.RHR HNP [HmER 28RS 1,657 4,355,402
159 2 | 10 [10.EHR FNl |FTLob RO AERS) 1.803| 4,353,599
160] 2 | 10 |[10.BEBR Ul |EREROARRS) 1,629] 4,351,970
161 5 | 1 [0.EHE #N |[AERBREA 2R MEEARRS) 4,134| 4,347,836
162 5 | 31 [10.BHER #I| [AERERVAI—RIME(GANRS) 4,131] 4,343,705
163) 7 | 15 o EER # | EERERU A 2—RvHE(CARRS) 4,144] 4,339,561
164 8 | 3 [10.EXER #HI| |[BERERVS 42— ur R (TARRD) 41261 4,335,435
165} 8 | 31 [10.3FHK HN |EREERVA S22 v (BAMERS) 4,131} 4,331,304
166| 9 | 30 [t0.MEE HH |BERBERUAE—FUMLOAMRS) 4139 4,327,165
167 11 | 14 o BwBHER #N |EREERV SRy (10F R 4,136| 4,323,029
168 12 | 12 0. EHK i |BRERBERUS—FVMR (11 BRRS) 41521 4,318,877
169| 12 | 31 [10. |/ HM | EERERVA2—FyME(12AHRS) 4,126| 4,314,751
1701 7 | 3 (0. RKE#K HN |HUULARTAS) 1,000} 4,313,751
171] 8 | 28 [10.RH%ER FN B R BAS) 500] 4,313,251
172 9 | 17 hoEBHR HN |[H U985 1,000] 4,312,251
173{ 10| 8 [10.ERER FM [ HSuR (1085 1,338{ 4,310,913
174 11 | 7 [loEsR #1 VIR AR 1,795] 4,309,118
175 12| 3 omBR NI AL (1285) 2,750] 4,306,368
1761 1 | 13 [I0.XBR I ISR GAS) 2,500] 4,303,868
177] 4 | 27 [s HHERAR IH |WOHBM@A~184) 16,000| 4,287,868
1781 4 | 18 B REMAE It (2ERXFEMOE~38) 1,050] 4,286,818
179| 11| 2 [sABBAR IH [SEREHMEA~9A) 2,100| 4,284,718
180} 5 | 5 [10.EER IH |[#BEROCTFAN-af—RERE) 1,245 4,283,473
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181) 6 1. 0.RBER £R |FHARROFAIL-HE-EE) 1,818 4,281,655
1821 6 | 10 NO. PR I (Fues—a1oy 3,353 4,278,302
183] 12 | 11 [loB &R IH (FIos—tod-5_ L F—F 1,419( 4,276,883
1841 4 | 4 HHO.EER I [HvisfaRS) 9,472 4,267,411
1851 5 | 11 [10.BHR IH |[HvvRGAS) 6,992| 4,260,419
186 6 | 4 |IOWER IR v R6AR) 6,992| 4,253,427
187] 7 | 4 [odwmn IH SRR 9,100( 4,244,327
188 8 | 2 O BER IH [HrusReas) 6,880{ 4,237,447
188 9 | 2 [1O.EBR IH PR 0eAM 6,837 4,230,610
190) 10 | 1 o EHH IR A R00ARD) 9.376] 4,221,234
1911 11| 3 HO.ERR IH HvieRGIAS) 8,708 4,212,526
192 12 | 2 [10.BER IH |[Hyusa2As) 11,218] 4,201,308
193] 1 | 6 [1O.EER IH [ HUIRO0RS) 8,781} 4,192,527
1941 2 | 6 1O EBER IH [HvIoReAS) 4,496) 4,188,031
1951 5 | 10 [10.EHR I 4TLvrRUABIRS) 1,585 4,186,446
196| 5 | 10 [lo.BHER IF [MERERGANRS) 1,741] 4,184,705
197] 5 | 10 [10.ER IH |ERRERUAS—2vHEGARRS) 3,628| 4,181,077
1981 6 | 10 [10.EHH OH |9ILvrR(SBERS) 1.586] 4,179,491
199} 6 | 10 [HO.BBR IH [EEBERGARRS) 1,625| 4,177,866
200] 6 | 10 [losmn I# |[EERERUGS—AMGANRS) | 3633] 4,174,233
201 7 | 11 HoER | IH [FILvhREARRS) 1,586) 4,172,647
202] 7 | 11 [10.EBR ITH [N REER (AR 1,645} 4,171,002
2031 7 | 11 [1o.BEBR IH [BEEREEREIS—RUME(GAIRRS) 3.607] 4,167,395
204{ 8 | 10 jI0.EHR IH [$TLvRRAIRS) 1,586] 4,165,809
205f 8 | 10 [1O.EBR AH [MERIER (AR 1,6401 4,164,169
206) 8 | 10 HOEER IH |AERERUEI—RuE(TARRS) 3,642} 4,160,527
207| 9 | 12 [10.KBR IH [#TLuERARS) 1,586} 4,158,941
208| 9 | 12 jloWER IH |BERERGARKRS) 1,514} 4,157,427
208 9 | 12 o WBR I | ERRERUA L I—F (BB ARS) 3,704] 4,153,723
210| 10 | 11 [0 PR I |5TLURRGAHRS) 1,586( 4,152,137
211 10 | 11 [IOERER IR |MEEEROARRS) 1,648] 4,150,489
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2121 10 | 11 [10. WX IH |BERERUAS—RuHL (AR 3,664 4.146.825‘?
2131 11 | 10 o EER IH FILyMEG0AMRS) 1,586] 4,145,239
214{ 11§ 10 IO EER IH |RERERGOARY) 1,377] 4,143,862
215( 11 | 10 jlo. kK% IH |EERERES—FvbR0RARS) 3,721) 4,140,141
216 12 | 12 10 EHR IR |$TLybRIARRS) 1,585] 4,138,556
217] 12 | 12 [106B#% IH [EwRER(1AERS) 1,475| 4,137,081]
218 12 1 12 (o EBR I [BRERERU /IR0 (NAERS) 3,681} 4,133,400
219] 1 | 10 [10RHER IH ($TuvrR(2BARS) 1,585] 4,131,815
220) 1 | 10 [10.EBER IH [SERBER2BWRS) 1,568] 4,130,247
2211 1 | 10 0. ERR IH |[BERERUSS—FUHEO1ZAMRS) 3.743| 4,126,504
2221 2 | 10 1o BBR IH [Ty AWRS) 1,585 4,124,919
223| 2 | 10 |10 WHR IH |E®RER(ANRS) 1,831f 4,123,088
2241 2 | 10 1O BR IH |AERERUA -y BIERS) 3,690} 4,119,398
2251 4 | 11 O WER IH |3TLur (2022453 A MRS 1,585; 4,117,813
226{ 4 { 11 NO.ERKE I [IREEA (20223 AMR5) 1,271) 4,116,542
227 4 | 11 [1ommR i [FERBERUAI—HoMREAR|  3602] 4,112,940
2281 5 | 31 [BAHMAR BH |SXRBERARRE(4A~2A%) 2,200\ 4,110,740
229( 4 | 20 BRAHMAR B0 HRMRREGA~I1RY 22,000} 4,088,740
230) 12 | 15 [s.EHMAR Bk |BEHERABMES (48 ~2A%) 2,200| 4,086,540
231] 6 | 28 No.BER BA |Fus—1s 1,455} 4,085,085
232 11| 14 No.EHR BAR |-t 1,090 4,083,995
233 11 | 14 o EHR A |or-mE 425] 4,083,570
234] 6 | 17 [10.EHR B (HUUALGGRERS) 5,721) 4,077,849
235( 7 | 9 [1O.XEBR BE [y (6AMRS) 5,413] 4,072,436
236| 8 | 18 IO B A HvIROBRRS) 9,130} 4,063,306
237] 9 | 10 [10.EHER B& |HVusRANRS) 3,037{ 4,060,269
238) 10 | 19 [1O.EB % BE |H U OARRY) 2,666! 4,057,603
239} 11 | 10 O EHR & YR G0BIRS) 5,567} 4,052,036
240) 12 | 13 [10.EEHR A USRI BEERS) 11,366( 4,040,670
241} 1 | 25 hoEmn BA [HULR2ZBRRE) 4,786| 4,035,884
242 2 | 9 |[10.EBR B [HUuo R AKRS) 3,639] 4,032,245
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sl A | B H B 1 XHEE| & 8

243 RE 0| 4,032,245
244 RE 0| 4,032,245
245 RE 0| 4,032,245
246 RE 0| 4,032,245
247 RE 0| 4,032,245
248 RE 0| 4,032,245
249 RE 0| 4,032,245
250 RE 0| 4,032,245
251 xE 0] 4,032,245
252 RE 0| 4,032,245
253 RE 0| 4,032,245
254 RE 0] 4,032,245
255 RE 0| 4,032,245
256 RE 0| 4,032,245
257 RE 0| 4,032,245
258 RE 0| 4,032,245
259 RE 0| 4,032,245
260 RE 0| 4,032,245
261 RE 0| 4,032,245
262 RE 0| 4,032,245
263 RE 0| 4,032,245
264 RE 0| 4,032,245
265 RE 0| 4,032,245
266 RE 0] 4,032,245
267 RE 0| 4,032,245
268 RE 0| 4,032,245
269 RE 0| 4,032,245
270 RE 0| 4,032,245
271 RE 0] 4,032,245
272 | 10 | 18 [10.=55E BE [TULs—ay 9,310] 4,022,935
273| 5 | 2 [l0=KE BE VIR GEAS) 3,069| 4,019,866
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FeAWAN: x:a: R4 1 = X | & 4

2741 6 | 13 [10.E%E BE |HVILKRGAS) 1,525| 4,018,341
2751 7 | 7 [10.EHBE BH [ HVULRTAD 1,452 4,016,889
2767 8 | 9 [10.EHE 8l [HVILREBESR) 1,536 4,015,353
2771 9 | 20 [10.E%E BH (HUULKEAM 1,526} 4,013,827
278 10| 21 [10.EHE BHE |AVUSLRU0ES) 1,380) 4,012,447
2791 11 | 21 [10.BHBE fBE [HVUL RGBS 1,504| 4,010,943
280 12 | 13 [10.EHKE B/E [HYULRO2ES) 2,624 4,008,319
281 1 | 25 [10.5#%E BE (HVILROAN 1,360| 4,006,959
2821 4 | 19 [I0.EBE EE EESERUI T EBERS) 4,219] 4,002,740
283} 5 | 20 N0.EHE BH [BEEERVI 24— GAERS) 4,219} 3,998,521
284| 6 | 16 [10.E%% BB |ERBERUAF—RUMLEAERS) 4,220/ 3,994,301
285 7 | 19 |10BBR g DR CRRUAVS—RVMCIR~TIAR 91 100| 3,973,201
286 | 12 | 16 [10.B%E BE |BRTERUAI—2vrR(12BHERS) 4,228 3,968,973
2871 1 | 17 [10.55%% BE |[BREERU S 4—Tur I BERS) 4,219/ 3,964,754
288 6 | 2 [3LEmE KUk [BHETE £4BVol10 803,880 3,160,874
2891 8 | 2 [BLAHE 2Rk [BHETE £8%RVel10 RAFHH 550] 3,160,324
2901 9 | 2 [3EBE Rk [BHETE S8|Velii 1,163,250| 1,997,074
291 9 | 2 |3EHE KR BHETE KMol BAFHY 550} 1,996,524
292 RE 0l 1,996,524
293 RE 0] 1,996,524
294 RE 0} 1,996,524
295 RE 0] 1,996,524
296 RE&E 0] 1,996,524
297 RE 0} 1,996,524
298 RE 01 1,996,524
299 6 | 28 LAEWREE B |RBKREG/28~6/20 JBEM TiEH) 60,170} 1,936,354
300 RE 0] 1,936,354
301 4 | 19 1IAEHRE EHE [RERE0/19~4/20 BER) 46,260/ 1,890,094
302 4 | 19 [{IAEWIRE BH |[HREREG/19~4/20 BEEW 45,160 1,844,934
303 4 | 19 [1LAEHER BE |EEREWG/19~4/20 HEH) 45,160| 1,799,774
304 4 | 19 NAERREE BB EREWG/19~4/20 BEH) 45,820 1,753,954
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305 4 | 19 NIAEWIRE I [HREREG/19~4/20 AT 44,500| 1,709,454
306 4 | 19 1 EAEHRE FI PRTREW/19~4/20 BE) 45,160| 1,664,294
307| 4 | 19 LEAEHEE S [REKREBG/19~4/20 AT 44,500| 1,619,794
308| 4 | 19 N AEWMRE B AARREWQ/19~4/20 BAET) 45,160] 1,574,634
309 4 | 19 LEAEMRE A |RBREW/19~4/20 BEH) 44,500] 1,530,134
310 RE 0] 1,530,134
311} 6 | 29 [10.EBE A& [HVULR6AS) 1,128} 1,529,006
312 7 | 16 |[10E=HE WA [HYULROAS) 2,400} 1,526,606
313} 8 | 15 [10EHE BRAR IAVUSREES) 2,680} 1,523,926
3141 9 | 4 [10OEKE RE (Avurrean) 4,400} 1,519,526
315| 10| 2 [10.EEE BRA (AR08 2,816] 1,516,710
3161 11 | 15 [10.EHE BRA [HVULRATAS 1,156 1,515,554
317 12 | 10 [10.EHE BA BV R(12B5) 5,196] 1,510,358
318 t | 3 [10.EHE BRA HYILROB) 6,175] 1,504,183
319| 8 | 3 |2B1BE IR |ASHEE6/3~4 TH-RE) 71,095] 1,433,088
320 7 | 4 NBBEHEE BE |HEREG/M4~5 BEF) 52,360| 1,380,728
321 4 10555 B [EEEER (02252 AFRS) 2,446) 1,378,282
329| 4 e T = ggfﬁ%ﬁ&zﬂ‘/&——*%ﬁ(mzzﬁzﬁE% 3.274| 1,375,008
323| 5 10EBE EH |EEEER (2022838 FKS) 2,462| 1,372,546
324| 5 0EBE = gf\;’é%ﬁ&zﬂy@—*wﬁ@ozzﬁsﬁ% 3.254| 1,369,292
325 8 10.875% B |BEBEERUBERD) 2,187} 1,367,105
326 6 0EBE BN |EEBERUA -2y AR ERS) 3,259 1,363,846
327 7 10.E5HE BN [BEBERGAFERS) 2,184| 1,361,662
3281 7 10.EBE SN [EEEERUVAA—RIMLGAERS) 3,430 1,358,232
329 8 0EBE EH |[BEEERGABERS) 2,185] 1,356,047
330 8 0EHE X |BEBERUA2—RUMLERERS) 3,250f 1,352,797
331 9 0EBE EF EEBEROBELRSD) 2,450| 1,350,347
3321 9 10EHE B |[BRERERVI2—RIbROBERS) 3,291 1,347,056
333 10 10E%% BN (EHFEERGCAFERY) 2,168| 1,344,888
3341 10 10.E5% BN |BEBERUAV2—RIMEBAERS) 3,283| 1,341,605
335 11 0EHE EH |BESEROAFERS) 1,618] 1,339,987
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336 | 11 10.EH%E EF [BEREERUAS—2IbR(SAERS) 3,141] 1,336,846
3371 12 10EHR 5 EHBER0FFERSD) 1,470} 1,335,376
3381 12 10.E%E EH |[BERBERVAL - 0AERS) 3,145 1,332,231
339 1 10EHE S [ERBERIBERS) 1,4571 1,330,774
340 1 10258 a2 [EERBERUA2—FIMUUTAERD) 3,292 1,327,482
341 2 10EHE BN |BEFEERG2BERD) 1,461] 1,326,021
342§ 2 0EHBE BN BESERVALE—RIME(12AERS) 3,373| 1,322,648
343 RE 0} 1,322,648
344 1 | 31 10OEHE AV S 12,951] 1,309,697
3451 1 | 25 BEMBAE B OWoFEEfKGAS) 1,600} 1,308,097
46| 7 | 4 NAEHRE BE [ARRE(7/4~5 BEH) 52,360| 1,255,737
347 7 | 4 LBREHRE W RBRE(1/4~5 HEH) 52,360} 1,203,377
348 7 | 4 \REHRE BH [ABRRET/4~5 KEH) 52,360; 1,151,017
3491 7 | 4 [LEAEPIRE HI [RBIRE(1/4~5 HET) 52,360| 1,098,657
350 7 | 4 [\BEHEE B |EERE/4~5 HEH) 52,360 1,046,297
3511 7 | 4 LEAEHRE IH |[RERE(7/4~5 RET) 50,680 995,617
3521 7 | 4 NEAEHARE BN |RBRRE(/4~5 BETH) 50,680 944,937
353 7 | 4 LEEHRE RA |[WBRIRE (7/4~5 HEH) 50,680] 894,257
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